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1 C
2 a
3 a
4 b
5 d
6 c
7 a
8 a
9 b
10 C
1 d
12 b
13 C
14 b
15 e
16 b
17 b
18 b
19 C

20 a
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English
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1 N
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1 C&D
2 B&E
3 B&E
4 A&E
5 C
6 A
7 D
8 B
9 B&Y
10 A&7
11 B &X
12 C&Y
13 C
14 A
15 B

16 E
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Puzzles & Problem Solving

1 X 2 4 7 8 9 Sum of top row = 30
3 6 21 27
5 20 40
6 12 48 | 54
10 40 | 70
2 X 4 7 8 11 12 Sum of top row =42
3 12 24 36
5 35 55
6 42 | 48 72
9 36 99
3
out of | 240 35 |[outof [ 350 48 | out of
= 50% = 10% = 80%

Smallest difference between the numbers in each pair = 12

4
ou’rof 120 36 | out of 60 45 ou’rof

= 20% = 60% = 30%

Smallest difference between the numbers in each pair = 24

The sum of the odd numbers in the
@ @ 4 black ring = 10
@ 1D
@

The sum of the even numbers in the
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Creative Comprehension

1 C
2 C
3 B
4 C
5 A
6 E
7 D
8 C
9 E
10 B
11 D
12 B
13 A
14 C
15 D
16 B
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